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1. RE=
£ 5% | 20 15 10 9 8 7 6 5
P/pa
B /8 | O 1.53 3.06 374 | 468 545 6.77 9.53
t/s
& 58 | 45 4 35 3 2.5 2 15 1
P/pa
B (8] | 12.61 | 14.52 | 17.23 | 23.01 | 30.12 | 47 74 140
t/s
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P/pa
BS &l | 0 181 3.65 5.84 8.62 1165 | 1487 | 1853 | 2287 | 2784 |33.28 |40.00 |49.00
t/s
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X EEKBANE, 155K 3
J£5% P/pa | 80000 | 75000 | 70000 | 65000 | 60000 | 55000 | 50000 | 45000 | 40000 | 35000 | 30000 | 25000 | 20000
InP/pa 1129 11.23 | 11.16| 11.08 | 11.00 | 10.92 | 10.82 | 10.71 | 10.60 | 1046 | 10.31 | 10.13 9.90
*3
EHEZTH Inp-t @, & 3
u Equation y=a+b*x
Plot InP
Weight No Weighting
Intercept 11.25521 + 0.00812
11.0 4 Slope -0.02822 + 3.4434E-4
Residual Sum of Squares 0.00375
Pearson's r -0.99918
R-Square (COD) 0.99836
Adj. R-Square 0.99822
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dinp

S= _VT =2x1073m?® x 0.028571 = 5.6 X 10™>m3s~!

BNHMEE A5.6 X 107°m3s~1



